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However, if she remarried  — RZn KXY 17 9957 297% IR 72 NI Noo1 92N
and the witnesses came afterward, she need not leave.

OVERVIEW

The case at hand: Two 07V testify that the husband died, and two other 27V testify
that he is alive. All agree that initially she may not remarry. If she remarried (her
7v),' the o°nom maintain that she may remain married to him. *0v *172 omn 21
maintains that she is required to leave him (since it is *3m »n). However, if she
married (her 7V) before the second group of 2*7¥ testified, >"2n7 agrees that she
need not leave him. X271 infers from *"2n7 that we are concerned for X1°7 27 ®n1>°1.”

— N %249 RMYIT DIVN NNYL
And the reason why 07 272 amin " claims that she need not leave,’ is because it
is demeaning for the 7''32 to change a ruling.

mooIn has a difficulty:
— NI NI 527 RIMDT DIVN NPV IND 4‘[!‘\‘19 YYT DNYAN 12 PYNY 13°29D AYP)

And the R'"2w9 has a difficulty with this interpretation that the reason ann °27
°D1? °272 says R¥N XY is on account of X1°7 °27 Xm>°1 for perforce you must say that

the reason for X¥n X7 is not because of X157 527 RnY9°T -
— SRWIN YUY 119900 KIX NNV NY 199N 19 ORT

for if it is indeed so; that the reason of X¥n XY is because of X1°7 327 Xn17°1, then the
ruling should be that even if she did not remarry yet but rather 72 permitted
her to remarry on the basis of the (first group of) 0>7v she should be permitted to

remarry, even after the second group of 0°7v came and testified. If 7"°2 will change its original
ruling on account of the second group of 0°7y, it will be a X1>7 *27 Xm%*1. It is the opinion of

' See previous X1 1"7 NMDOMN.
* The view of the o"»om does not indicate whether or not we are X317 *27 X011 wwn. The 0°20n maintain that Xxn X7
in either case, whether 7" gave her permission to remarry or not. They are of the opinion that 7"2 does not have
the power to separate them on account of a po0 to 7", since the parties themselves have no 50 (see previous n501N
ax1 7"'7). There is no XmM>°7 here at all; they can always remain married (see following footnote # 3).
3 5"3m7 is of the opinion that X¥n (if she remarried when it was *3m ). This indicates that he is of the opinion that
7"2 will separate them on account of the 750 to 7"°2. Why should it be different if she remarried before the *n "n;
now it is a situation of M >7n and the same o0 exists?! X2 infers from this that it is only because of X1°7 27 X011
(for previously 7"2 permitted her to remarry); therefore 7"°2 does not take any action. However if 2"nX1 077y w2
nRw°1 (we say Ryn, for) there is no Xn12°1; since 7"°2 never permitted her to remarry.
* See footnote # 12.
> See previous axX) 7"7 MO that we are discussing a case where she is marrying one of the 2°7v who is certain (as
she is) that her husband died.
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mooIn that there is a X3°7 27 XM>°1, not only when the original P09 of 7"°2 was acted upon (i.e. the
woman remarried), but even if no action was taken. The mere fact that 7"°2 changes its ruling is
considered a 17 °27 XM?°T —

— “nuyn NYYI XY ITION RMYIT XIINT NINDN 993 ¥nUnTs

As is indicated in the entire discussion here in the X723 that there is a 27 XnY»

X7 even if no action was taken, based on the 7">2 po5. The fact that >"2n7 says Xxn X?
only if nXw1 but not if it was only Xw1? 7°n7 proves that the reason of X¥n X7 NXw1 ax) is not on
account of X7 *27 Xm»1. There must be a different explanation.” How then, can X217 prove from
»"2n that we are concerned for Xm?°1?

mMooIN anticipates a possible rebuttal to his question and rejects it:
— NYY MPNNY 19N smxp‘r HNYI 212) 127 PRT NN

And if you will say, indeed it is so; that on account of Xm?1 we allow her to
remarry even if Xw1°> m7°nn, for when it says in the Xn»92 ‘and she remarried’, it
does not mean that she actually remarried; but rather it means that 7"°2 permitted

her to remarry. mooin will now explain what would the term 'X¥n X2' mean if NXW1 means
RWI Mni —
— PYNIN NINNHN RSN KXY WY

And she will furthermore ‘not be required to depart’ from her original

permissible status. The term 'X¥n X%' will mean that once she was given permission to remarry,
she never leaves that status that she acquired; the status of a woman permitted to remarry. If we
were to interpret NXw1 and X¥n X2 in this manner, the objection of the X"2wa will have been
addressed. If she retains her n°7, this certainly proves that we are concerned for Xm?7.

The X"aw rejects this rebuttal: We cannot say that the term DXW1 means Xw2 M N::
— YUNN HRYI NON XYY N1NN 2WIN9Y s810 KD NINY)I 75 9NN) DY INAY

because when the Xn»72 mentions the case of when the 2°7¥ came and then she
was NRw, in that case we cannon interpret the term 'NXwI' to mean that they
permitted her to remarry; for since it is >0 >0 then 72 will certainly prohibit
her from remarrying,9 but rather in the case of DXW1 2"NRY 7Y X2, the term 'NXRWY'

means she actually remarried (without permission from 7"2). Therefore we must assume
that the term 'nXw1' in the case of 2>7v X2 2"NXY NXW1 also means w»n NXW1. That only if she

® Later the xm3 will be discussing the issue of X317 *27 XMt in regards to the 77D status. There is no indication that
any action was taken when either confirming or disclaiming his status as a 37.
7 mooin will shortly state what that explanation is.
8 "9 states XX XY W 7 00TV IR 2'ARY DRWI Lax. nooN will explain that the terms NXwi1 and X¥n X? can be
understood even if she did not remarry yet.
? This is true even according to the 7127,
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actually remarries does *"2»7 maintain that X¥n 8%. However if it was merely Xw% m2°n7, then
the ruling would be that she cannot remarry if the other 2°7¥ came. This should prove that we are
not concerned for R1°7 °27 XM?T —

— NIY9OT DIVN NI Yy 1Y Yam KY NPIADNT XYL 7095 S
And perforce you must say that the reason for X¥n X% 0°7¥ W2 5"nX) N1 is not on
account of Xnm»1, but rather the reason why it is X¥n X7 is because we cannot

take her away from her husband just on the basis of a doubt; that maybe she is still
married to the original husband. A 50 is not powerful enough to allow us to take such a drastic
step.11 We are not however, concerned with xm>1.2 If we would be concerned for Xm>’1, then
she would be able to remarry once 7"°2 permitted her. The question remains; how did X217 derive
from >"2n7 that we are w1 for X107 °27 XM ?1?

NN answers:
— RIMDOT DIYN NNYV DY 9921 U
And one can say; really the reason of X¥n X° is because of Xn¥9>1. There was a
difficulty however; if the reason is because of Xm>’1 then even if w1 m7°ni she should retain
this 20> even after the other 2>7y came. Mmoown will explain that there is a X177 only if nRW1
wnn but not if XW1? M0 -
—N3YT %27 NIIDIT NN D7) IND T2 INNY HNYIYI NI
And only if 2°7Y X2 2'"'1XY NRW1 is there a R1°7 %27 XM, if 772 will force her to
leave her new husband,—-
- NIV 195 DDIYN U5Y NYDN) 925V
For this woman is already presently forbidden to have relations with the whole
world, since she remarried. Her present status is that of a married woman, so -
— ¥Ma¥a NN PN PR I ARWIY TYD NIOND PINNY N NN
It turns out, that which 7"°2 is rescinding its permission and forbidding her to
this witness whom she married; we are rescinding our permission only in
regards to the 7v. This is the only accomplishment that this new prohibition will effect. This is
considered a Xm?>*1. First 72 says she is permitted to remarry, then 7"°2 says you must leave this
7v, whom you married. For the rest of the world this rescinding is meaningless; they were not
able to marry her while she was married to the 7V and they cannot marry her now either, on

' See footnote # 12.
' This will explain the difference between nxw"1 and Xwr> mna. If it was merely Xw2» M0, then we cannot use
the X720 of ¥an 7% opon X2 Xp*H0HT, since she is not married yet. In the case of NRwI 3"nXY 0>7Y X2 we will (be forced
to) say that it is a 01p since they were 7121¥ on 7"°2 pos. See footnote # 14.
"2 The X"2w is not phrasing his question in the form of; ‘how can we prove from >"an7 that we are XM>1> W,
perhaps the reason of R¥n X7 is because 2van 1% *pon X2 Rp'oon’. Rather the question is phrased that since we
certainly cannot use the reason of Xm?°1, therefore the reason must be because of Hyan 1% >pon XY Rp*oon. See
footnote # (4 and) 14.
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account of the 1 »7n. The 771717 is only in regard to this 7v.
— N, NI NNVIV OTP DY INI ON DAN
However, if the 27V came before she remarried; then even though she had a
7077 to remarry it will not be a XnY9°7 if 72 voids that 0. The reason is -
— OYN HIY NIOND 273 PYNRIN NINNN MINY 199998 TN Hy4
For perforce 7"2 is required to rescind the first blanket 9n%7 in order to
prohibit her from remarrying to anyone. Originally when only one group of 0*7¥ came,
7"2 gave her a 0’7 to remarry whomever she pleases, since no one contradicted the 2°7y.
However now since she did not remarry and a second group of 2>7v came who contradict the first
group, then obviously 7"°2 must retract the first 707 She certainly cannot marry now whomever
she pleases, for it is ™M »n; there is a XN™MXT w°X MWK p90."* She (at most) can only remarry the
-
2 979 1, 15945 ) NN BY9DIN DN KDL NIPY 1950
Therefore [the "1 maintains] there is no xn¥»>r if 7'">2 will also prohibit here
from marrying her witnesses. A x°7°37 xm?>1 is only if it seems that 7"*2 made a mistake.
If new 0°7¥ come then everyone understands that the original pod of 7"°2 cannot remain. 7"2
cannot permit a XnN>71X7 XP*00. Once 72 changes its P0d concerning everyone, there is no Xn1
if we include her o°7¥ in this Mo°X. People will understand it is part of the general Mo°X. However
if she actually married one of the 0*7¥ and then the second group of 0°7¥ came, then if 7"2 will
change its pod it will affect only the 7v whom she married; everyone else is already 70X from
before (since she was married to the 7v) and will continue to be 70X since it is M >N, There is
no compulsion for 7"2 to prohibit the 7v and the woman to remain married, for they both
maintain there is not even a MoK Poo. If 72 will change their po» it is a *27 R1T XM?T.

SUMMARY
There is no Xm?>1 if the change of a poo to an individual is included in a general
necessary change to the community at large.

THINKING IT OVER
Perhaps the reason for X¥n X2 no°1 oX1 is because of 77yan 7% *pon X7 Xp*oon and the
reason it does not apply to 2>7¥ X2 3"nX) No°1 is because there, they transgressed

the prohibition of 7"*3, therefore we say X¥n as a 01p?"°

13 493 certainly cannot permit a XN™»1IXT P20 on account of a X1°7 *27 XMPT.
'* mooIn explained how it is possible that the reason for X¥n X% 2°7y W2 2"fX1 NE*1 is on account of XM>°1. There was
no explanation however why we cannot say that the reason is on account of 5¥an 1% *pon R? Xp¥00n; in which case
there would still be no prove that Xm?°17 Pwwin (see footnote # 11). It would seem that if given the choice between
these two reasons, we would prefer the reason of Xm?°1 over the reason of 15 Xp>oon. If the reason is 13 Xp*90n, then
why if nRw»1 2"1RY 0°7v X2 do we say R¥n! It should be X¥n X since 15 1°pon R? Rp*oon. See ‘Thinking it over”.
"% See footnotes # 14 & 11. See 71271 7"7 n"ma.
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